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QUESTION 1

An administrator is part of multiple business groups. One group is only entitled to power on and power off virtual
machines and the other group is only entitled to destroy the virtual machines. 

Which actions will able available to the administrator when a machine is deployed? 

A. Power on, power off and destroy 

B. Destroy only 

C. Power off and destroy only 

D. Power off and power off only 

Correct Answer: A 

Reference: https://docs.vmware.com/en/vRealize-
Automation/7.3/com.vmware.vra.prepare.use.doc/GUID419B6905-E84F-409F-A7A3-C5AB8CDFBA7E.html 

 

QUESTION 2

What is the minimum supported key length that can be used in vRealize Automation SSL certificates? 

A. 4096 bits 

B. 1024 bits 

C. 2048 bits 

D. 512 bits 

Correct Answer: C 

Reference: https://docs.vmware.com/en/vRealize-Automation/7.5/com.vmware.vra.install.upgrade.doc/ GUID-
B9B2BA2D-B57B-4963-87BE-4939C20C4693.html 

 

QUESTION 3

Which two pieces of information can be used to search for machines to reclaim in order to conserve resources?
(Choose two.) 

A. Last usage date range 

B. Number of CPUs 

C. Number of disks attached 

D. Memory usage 

E. Expiration date range 
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Correct Answer: DE 

Reference: https://docs.vmware.com/en/vRealize-
Automation/7.3/com.vmware.vra.prepare.use.doc/GUIDB9BE9E52-8DC6-477C-824E-9BA7F8F2A311.html 

 

QUESTION 4

A directory has a complex hierarchy with all objects scattered in different organizational units. Synchronizing all users
from it can be time-consuming and not all of them need to be vRealize Automation users. There is a security group that
contains all of the users for synchronization. This group contains other groups as members. It also contains the users
that require synchronization as direct members. 

Which step should the administrator take to ensure that only the necessary users are synchronized to vRealize
Automation? 

A. Specify a subdomain for the group. 

B. Disable the search filter for users. 

C. Disable sync for nested group members. 

D. Specify the root of the domain. 

Correct Answer: C 

 

QUESTION 5

Which two components require a load balancer? (Choose two.) 

A. IaaS Web 

B. IaaS Manager 

C. Proxy Agent 

D. Management Agent 

E. DEM Worker 

Correct Answer: AB 

Reference: https://docs.vmware.com/en/vRealize-Automation/7.3/vrealize-automation-load-balancing.pdf 
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